
8213210 - 20 – 30  &  480151 - 52 - 53

Version: 01-2024

4

3

2

1



8213210 - 20 – 30  &  480151 - 52 - 53

Version: 01-2024

87

9 10

65

11

3 x 8200102 - M6x10
Flanged screw + nut 



8213210 - 20 – 30  &  480151 - 52 - 53

Version: 01-2024

14

13

12

8 x 8200102 - M6x10
Flanged screw + nut 

2 x 8200102 - M6x10
Flanged screw + nut 

4 x 8200102 - M6x10
Flanged screw + nut 


	8213210 - 20 – 30  &  480151 - 52 - 53 - 60 degree branch Manual 2024 V1.vsdx
	Pagina-1
	Pagina-2
	Pagina-3


